Solving Quadratic Word Problems

The square of aEposmve number |decreased by 4 times the nurnber@l2 Find the
positive number. e ,
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2, The arealof a rectangl is 40. If the width is 6 less than the length, find the dimensions
(length and width) of the rectangle.
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3 The a) of Bethany’s —yard is 54 square yards. If the length. fis] 9 more than
&e 3 times the width, find the dimensions (length and width) of the Tectangle.
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4. Three brothers’have ages that are consecutive even integers. The product of the first and

third boys' ages is 20 more than twice the second boy's age. Find the age of each of the
three boys. - hed

. : ; Lg,l— X be |2 Ct\Q
Xy * Ll) = 2D ¥ 2(X+ZW iy
Ley X+ 2 be ZN&C\)@

‘YUY = 20+ 2x+Y 3rd

J et Xx+Y be ey

Y& +Hx = 2x+2H

X 7 1725 =24 = O T}’IKC &‘0\/3 C:SQ.X

_ _ Qure.

(X + L x=H)=0
| o H b, 8
Ktb<o B \ﬁh—nl_;_h_ﬁf ~



v Word Problems Practice Name

i

SRR »s;‘ i~ annang a rectangular dog pen that he wishes to enclose. The width of the dog
tis 2 veiue dens than the length. If the area of the dog pen is 15 square yards, find the

Chinecsions of the pen.,

Siue Chiee consecutive even integers such that the product of the first and the second is
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